
Crochet Poppy Pattern 
 
You will need 
Oddments of red 4 ply yarn, 2.50mm/2.75mm crochet hook 
Double knitting yarn along with a 3mm/ 3.50mm hook can be used 
although you will get a larger flower. 
How to make 
Make 4 chain and join in a ring with a slip stitch.  
Round 1 – Make 3 chain, then make 16 trebles into the ring. Join with a 
slip stitch to the 1st treble at the beginning of the round to form a ring. 
(16 stitches)  
Petals (Make 4)  
Row 1 – Make 3 chain (this counts as the 1st treble), and 1 treble into 
same space, then make 2 trebles into each of the next 3 stitches. (8 
stitches in total), turn. 
Row 2 – Make 3 chain. Then make 1 treble into each of the next 2 
stitches. Then 2 trebles into each of the next 4 stitches, then 1 treble into 
each of the last 2 stitches, turn  
Row 3 – Make 1 chain and 1 double crochet into 1st stitch. *Now make 2 
chain, 1 double crochet into next stitch*. Repeat from * to * until end of 
petal. Fasten off. 
Re-join yarn to next stitch of round 1 and repeat Rows 1 -3 to make next 
petal. 
Continue in this manner until 4 petals are made.  
To finish 
Stitch a black button in the centre of the flower and a safety pin or 
brooch fixing on to the back. 
 
 

 
 
 
 
 
 
 
 
 
 
 



 
 

Knitted poppy pattern 
 

You will need 
Double Knitting Wool in Red = A, Green = B, Black = C. 
Petals in ‘A’ (Make 4) 
Cast on 7 Stitches 
1st Row Right Side Knit 
2nd Knit front and back into first stitch, knit 2 stitches. KFB*, Knit 1 (9 sts) 
3rd As 2nd Row (11 sts) 
4th As 2nd Row (13) 
5th Knit 
6th Knit 
7th Knit 
8th Knit 
9th SSK* twice, knit to last 4 stitches, K2tog twice 
10th Knit 
11th Knit 
12th Knit 
13th As row 9 (5 sts) 
14th Knit 
15th Knit 
16th Knit 
17th K1, slip 1, K1 psso twice, K1 (3st) 
18th Cast Off 
For the centre 
Using ‘B’ (Green) 
Cast on 16 stitches then cast off. 
Making up 
Joining cast-off edges, sew petals together in pairs then place one pair over the other in a 
cross formation and secure. Coil green centre into a tight spiral and sew in the centre of the 
petals. 
Using ‘C’ (Black) work a ring of straight stitches around the green centre and then work 
French Knots around them. 
Maintain the petals in a cup shape with small stitch behind pairs of petals. 
* KFB is Knit Front and Back 
** SSK is Slip Slip then knit through the loops 
 


